SHTEE

6 A 7 /NFRTF EMRILER (

)

No.1
L1,
| 1FRIoE#EE |
| BEHETT. |
| EREZEMIEC
I E]E/U'C“B('Jfﬁ'/vo I
S AN
N S (S I
1 [
1 [
! C antoBsRiE |
—Ee |
| 6ADEERZIE TS, [
1
| TORDMI RITFERDE |
: BREZEEIY, :
SR I I
i I
| EHHE100%0REE, |
: FERFEH LT TLVEL )
| BANHYET . !
1
b
R 6 A 308 (K £ 6A5H K £ 6F48 Ok £ EH6H (= R 6820 (B
fi] 6 A28 (H) 7 | 6 H3H (K 7 | 7 | 6 55 H (K 7 | 6H6H (&)
T3 | 5L 206| 5L | F 5L 206|250 | E 5L 206| 2L | 5L A EEREEN 206
CfR (B8R 75(/80 | FHE Y 50| C8R |E8R 75|68k [B8R 75|C8R [RS1hL— 75
% |&W 5| 7 |BThA 10| » |BTHRA 15| & |BThH 15 7R [B @A 15
* |BREA 10| v |=HE= 6| & |GIFLKIR 4 F Az 10| 7 |E= 30
A |As 8| 7 [Az 10 » (B 2| T |EE 200 1 |A3 15
Y [moF 8| 7 |CentzE 20| # (A 10 REEE 2 & Loe 5
il ERe 15[ 7 vy 15 7 [calzec ol [WamEF 5| 7 [7vau— 10
EE RE 10 : INAEE 10 K= 10 E® 10 o [#% 35
| HSY(LEFHE) 3 2 RA—TAbyY 1 INRER 15 INAER 10 RE—PaR—R 10
5 [I=5 5| | [pBR—TF(FFY) 1 =173 4 Z; 5 BHIL&S 0.02
hERAR—T XYY 1 > |BiE 0.4 TR 4 BiE 0.2 &iE 0.3
=S 0.02 BIl&S 0.02 OBEHEL 1 ThH 15 E£H)—L 4
il 3 K 130 7K 125 moBEL 1.2 LAY i eV 05
BiE 0.1 ViS 95 K 45
7K 125|5e [A=GU=L38Y9%5 50|64y |SIEIETFC 50
FRY—2 2.5 B =4 50| Kty |[R=aoF LY 50
&Y |BREE (21E) 50 i |KBEHA 15| A |XiB 8
Nk ey =F g 5| = |BEA 15| B |As 1o L |k 5|4 F|F vy 25
N EF 15[ F |2ES 15| /N |#YA 087 ¥|AB 10
R [ConiEE 30 k |&£385CL 5| A [ER0Aalfa 10| < |[mEEL 0.05| % ~N|Ew3Y 15
7 Az 10 tl K= 15| U [#ex ok 5 ,I\ 25 2| Y|r=rRLyL oy 5
R 10 | izal< 01| ° |=mE 1| 5 [cam 03| @
Y ek 01l % |azus 0.4 BYA 0.9
2 |zvoy7 7 By 0.1 85 3| | |BE® 15
¥ rRrE1—L— 5 AYIFE 0.6 ?j AS 5
rMTFey T 4 CFEil 02| X |FvRvY 20
&is 0.15 Ht-taim 03| ¥ |gEtvL 15
K 7 & |lp—=> 5
fit=1ail 0.3 Z; 0.5
BIL&S 0.01
B 0.3
LHIB /N T AREKIL > LN DNHBRIL > Tit=tail 0.3




A e oA o =
SHTEE 6B/ ERFEBILE (GEH)
£ 5 A 10 8 (K) £ 5 A 11 8 UK £ 5 A 12 8 K £ 5 H 13 0 (&) £ EEERGD)
| 75| 6798 (A) Bl 67108 Bl __6A11H 0Kk Al _6H12H (K Bl 67138 (&)
EEETN ESEN 206| 4%, |4 2L HHEENEED G EENEED 206|432 [4ZL 206
= (HSEA 80(8R (B8R 75|68k (B8R IE AV VEESYAYS 50| 8k (B8R 75
2
R |zla s 7| B (B 15| & |x= 15| b |REA 15| 7 |BERA 15
2 |mhE 2| & [Az 10| it |BGRA 15| ¥ |EA& 15| > |&W 5
& @i 06| & |#EoKE) 5 A5 8| b [Frry 15| & |kteEE 10
Al 3 #BOLERE 15 bNic) 15| @ [vho= I = 15
K 10 850 20 B2y 15 7|< HeYwEsHR | 4 * [EE 15
BELA 15 INAEE 15 % 10| J [F=H 10 0;2 hERAR—TZbvo| 08
A 10 thERR—T Ry 1 MR 10 R—ILh R MRS 15 7 [BILsS 0.02
MEIFS 8 B 0.5 =[5 8 1Al 02| 5 |& 2
Lol 5 & 2 MOETEL 1 AV A 1 Bis 05
A 15 BILl&S 0.03 7k 100 BIL&S 0.02 7k 135
b 1 B’iE 0.2 BiE 0.5
HYA 0.6 SRE 0.1\ [BRESTiE 50 fEt=1ash 0.5|154 [RESEZY 50
25 4 K EE 15 7k 100 Ak A =F b 5
BiE 0.5 TAH 15| &K |RBH 25
oL 15 CEil 02| & |E& 15|54 |FXoAY 60| + [/inzZ 17
7k 140 7k 140 @ |[EEHHL 15 hiRY—R 25 L |[BEHOL 20
£ |he—<y 5 P NCEX T 10
ety [BEBIT 50|74 |CBSENZIE) 3| = |z 04| AlAz 15 A5 5
;; & 07|¥ slg= 5| |mERLYL L | 47
D |FrRy 5| & [BEA 28 i 03|72 &fzw5Y 15
Y |viaE 20| ¥ |Ed 038 HYA 05|% Ak—a—v &) | 15
A 8| A & 05 i N e A
A |faHoy 05| ® |rroF 15 ThH 05|
ZLL&SW 2 EF—<> 10 ANt AV 0.3
FE—<Y 8
BEMAKDOR 3.2
g 0.4
TAH 0.4
At e 0.3
S 6 H 17 H CK) ET 61 18 H UK) 3 6 H 20 H (=) S 6B 198 () = 68 16 H (H)
7| 6HI16H (A) @ 6H17H (N | 6HI18H UK i 7| 6H2H &)
EETN ESEN G EENEED HEEENEED G EENEED HEEENEED 206
ﬂle ETHR 65|78 (/818 50| 8k (B8R 75|28k (B8R 75|k (B8R 75
Y |BEA 15| # |E& 30 7 |74— 71 2 [FLEA 30| &K |BEA 30
A |xk=Es—+ 5| = |A3 10| * |4l 15| & |Bhn 10| B |BEET 40
ll/ EF 30| & |Cent 25| | |z 10| 2 [As 1ol & Az 10
FRE—< 5| 7 |FvRy 15] X |@EHoL 10| = |k 20| B |mox 10
IMAZE 12 7|‘ YF—A=Ay 10 ;, ER 12 ZHHmisF 6| B [Fony 25
v&IE 15| 5 [ava 1 VKA 5 VAR 15 g M OkE) 5
I2A1=< 05 BIL&LS 0.02 hERR—TRyY 1 B 0.7 % E—<> 5
£ 05 ’if 07 il 2 il 5 g |SPLAITA 10
w—ILhTh (EEE) 5 #t=Aail 05 BIl&S 0.02 Bi5 02| y |£2 05
RBE—YY—R 3.2 K 110 Bis 0.2 moBEL 12 @ [1cA1K 0.3
FRMFey T 3 7K 120 7K 125 2RE 0.1
AL—RARIRAR | 0.01|8EY |[FFOFTIE 36 LAY i eV 0.5 fo¥E 2
LN—%IF5 2 (21@) EMAICOHER 35 AL 0.5
AL—IL— 16 5 |FE 50 FRERMG 6.5
itz taim 05| b [R/HF4 10 iz BiH 5| » |BKEBA 7 #HYA 2
7K 60| ¥ [R—a> 7 T |As 5 &2 2
b Az 5|  |BRA 10| & [Z1F5 10 ThH 15
1Y |9SARRTER 55 /N |E& I EXAN) 20 @ |LHL 5 1=t 05
BiE 015 2 Lot 5| % Lot 3| B |caize< 12 x 40
? le—<> 5| @ |[senalFa 8 B 1
h|FeRY 20 I2AIZX 0.2 S=REEIT 5 f-tail 03[ Z n|Ew3Y 10
Z |hR—a—>r &) | 10 R—ILhT (RS 4 FE—<> 5 b 08|F F|As 5
7 |Zw3Y 10 R—FRbvY 0.4 i 03 AL 0.1 L [gEHwL 15
ars 10 rRERLYS LY 4 WWELBELYLYY | 4 B 12| % K[gFLxR 45
Y sLerLvsoy | a5 Bk 0.1 Bl 02| | 25| Rlawyoz 06
,} BolEeS 002 it-fait 03 K 1o PlmczrLyesy| 6
75f=4aimh 0.4
Bis 0.01 w1 H e S U HF 13
L BIE/NI O TRNERIL > <KBBOA>




SHTEE

6 A 53 /NER T ERRILE (GEHE)

£ 6 H 248 (R " 68 25 8 0K R 6 H 26 B CK) ® 6827 8 (& = 68308 (B)
7| 6H238 (B m  6H24H CO | 6H2H8 0K 7| 6H2H (X /| 6H27H (&)
EENEEN HEENEED HHEENEEDN U EENEED HHEENEED 206
CtR |E8R 75|/ (&R 50| 8k [EER 75|28k (EHER 75| /N [ECER 65
‘Vp
& |mER/NE RISt 10| ¥ |KEA 15| & |9 <CHER) 15| B [BOhA 15| ¥ |BEA 15
A (BERA 15 U | KkE3—F 1| E |m5E 10| & [hEFse 201 7 (KB 10
~ (A 1ol 3 [x= 30| b |AMEE 15| X [BFET 10| 1 [conz 35
WS 1ol ¥ |E= 30| ¥ [gmseL 15| D |+455 71 ? |=z 25
T sz 15| ? (A 15| < [zoxx 5| * [xz | |[Fyu—rE—2x 5
N3 15| 7 [soLaFa 5 ;f IMAZE 15 E EF 15 1ZAlz< 05
#HYA 1 I2AI=< o1l - TAH 15[ 1 |FAESIN 2 H=E 0.5
=il 5 R—ILMT (RS 15 HhERR-TRbVY | 0.7 moEEL 1 AYF—X 5
BiE 0.2 rTFy S 10 & 2 [=]31 3 =B 0.5
hoBEEL 1 DARB—Y—R 1 BILl&S 0.02 FRERNE 5 PREA—Y—R 2
7K 130 avYA 0.8 BiE 0.3 7k 115 rrTFoy S 2
FUY IRy HE— 0.05 K 130 N L— 14
Bew [B<h DD E T 32 Ro¥E 0.3 | |35L0RE 35 AL—iL— 2
BIL&S 0.02| i |[Z—UTF—REEH 50| Y [F¥E 1.5 LIA—ZFIF3 2
U |BKEA 10 Big 03| # |ff-taBEsH 5| B |&vA 0.5 R RE#EL 2
C |As 5 Ht-taih 05| B |EZ 5| & | 1 Ht-taih 05
oLz 2 5k 55 K EE 1| & & 2 7k 60
D |zt 5 BosE 0.6 1"; TAY 02
g; #= 5|74 [SBABIVS 70 ;5 2| & |k o| i1 |BEFHIREE)| 40
= AT 5 7K 5
= |FREL 01| # [&= 15 ZFEd 02| &K |BBH 20| O |BOHH 10
Y] 09 & [FvAwy 20 S EEN 15| | |&38520 15
B 25 Y |=w3Y 15| £ [E=22 8| & [&EHvL 20 ¥ [SVPVAITFA 15
LAYk o 03| 7 |aaUF RLYL LY 51 | |&mEm; 13| 7 |aEELF 5| & [As 5
K 10| ¥ 7 |BEy (kE) 2 ADEE 5| L Lot 5
RES: 12 =5 5| A |ttt 03
B |HrE—2> 5 ES) 0.01 'Z = 05
é; H=x 0.2 R¥E 02 o [BEL&S 0.01
e b 0.2 FARE—Y—R 05| +, |BiE 0.25
FARE—Y—R 03 =i 15 =
il 0.8 BiE 0.05| |
S ) 0.01 Tit=1ail 0.3
BiE 0.3 TAH 05
LAYz o 0.3
£ 58 23 5 (5)
| 75 | 6 H 30 (A)
T3 | 5L 206
CfR (B8R 75
W |KBA 15
E |KE3—b 5
LSS 25
T |BisT 35
As 10
moF 8
Ty ¥ 5
A 15
1265 5
I2AIZK 0.3
HhERR—TRLVY| 05
¥ 15
& 25
ZiRE 0.25
TRk 6
TAH 2
fit=4aim 05
7K 50
Z |calzel 40
A B RA 15
I Lt 5
* (=% 03
< lapycs 0.6
D \#@ys 0.7
* LISIJ:ELU, 0.;
K o|=
o |Ft=Aaim 03
EW|IL—FI)L—y |4857
(1/61@&)




